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(a) 	0 
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522 P.T.O. 



(iv) f 	(-3, 5) #247 	: 

(a) 	241:f 7q9-TNT 	 (b) 	fcd-17 {q2,1fT 

(c) 	Td174  	 (d) 	qti t4q24f7T 

(v) 90° 	 cb6otor 	: 

(a) 	7:179 	T 	 (b) 

(c) 	 -W)Tri 
	

(d) 	 -161 

2. 	f-{wr 	 : 	 5 

(i) 	qk fq- 	(2, 0) 

 

4-11.1-W-11 2x + 3y = 	"a k ITT 	i •-f re - 

	  61'111 

(ii)  	fq3 tr 	1, 3TP:1 f 	kich 
	

Nth tur (11=41 7r Trwth t 

qr13 c 1 lcl ti 

(iv) -i4-11-c1( 	 q1-11 fa-wit  	 t 

(v) x2  — nx + 40 	quil(gus 	 &1 

3. 	TrFivaRTFr f7r-Tg7 : 	 5 

(i) c ch 3-Tift-47 .ksqf ciftcircict) 	 61c11 t 

(ii) cf.) 1 citc 	 cr)r \Tin t I 

(iii) =4.a .a-r 	 31-crr-th: 	co-1 	3-1-4T 	X11 t.  

(iv) 31k-ff 	 4-0 f-q"- 	 t I 

(v) t -17 cRio tcal 3T4. 	(DR <4t rlcil t 

522 	 2 



i46 \it 	Nqi 	: 	 5 

"ar 

(i) 	-)  	 5 341-4 	(a) 	a3  

ch1 'Y I qc*) cif 

(ii) 1:1T7, TIT 	, 

(iii) 1 3T
TEr

1  

(iv) 	3T—Z-th-- 	3-Trziffi 	 (d) 

(v) T4-4 ITT TP:i 3 	(e) 	tilftReo-) 

3T1 ci.;) 	 flricticif 

5. 	7T-- /clict-4 Tt dri( f-efla7 : 	 5 

(i) f 	f-97 chei IFT311 	trr 	,4-44r 	t ? 

(ii) 6/6 	2/5-  tf qua ---1-f-77I 

(iii) qiq x — 1, 4x3  + 3x2  — 4x + k 	qut-Rgus t c k 	TrR 	-Wl.f77 I 

(iv) 	 x = —5 	tR.  cti 	chkul 	tc\4 -4 0441-cl 	sl-F771 

(v) 	gq1§ fq1F 0111 lifTWSIT qlr\YR 

6. 	Tfici 	: 	 2 

(125)-1/3. 

3TP-1-41- 

8 15 	2ftf 	\YR I 
c311  

522 
	

3 
	

P.T.O. 

2 

1 

6 



7. 	7 Ar T'rra f 	 ? 	 2'1 

774kf 	fq7 T7T 	I 
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